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(iv) An as'sesgee has f)btained @ patent right for Rs. 2,62.500 for 20
years during previous year 1997-98. How much deduction will be
available while computing income from business and profession?
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_ (v) How is total income of an assessee rounded off"?
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(vi) [fthe total income of an assessee exceeds the “maximum exempted
amount” he has to file his return of income ¢ mpulsorily. What is
this “maximum exempted amopnt™ ? *
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(vi) At what rate will the deduction of tax at source be made on payment
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(x) C:ov'md transferred to his wife secu o s 2,00,
" i sideration during the financial year 200809,
without con rities @ 10% per annum, Du
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terest is earned on these S€C . .
1he year 2010-11 his wife invested two ycar52 g‘lcome also in
similar securities. During the previous year 2011-12 she

Rs. 24,000 on an investment of Rs. 2,40,000. Hc;w much incop,
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2. (i) There are two activé partners in a firm Anand and Arpit, Each
capital of Rs. 5,00,000 in the firm. As per partnership deed iiitsh
(@ 14% is payable on the capital wer i i
pital and each partner is entit
remuneration of Rs. 12,500 per month. The firm is eli
payment of tax under Section 44A i n 2
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Keshu owned a house property at Chennai which was octupied
by him for residence. He was transferred to Mumbai in June, 2011
and there-fore he let out the property from 1st July, 2011 on a
monthly rent of Rs. 3,000. The corporation tax payable @20%
was Rs. 6,000 of which 50% was paid by him before 3 tst March,

2012. Interest on money borrowed for the construction of
property Rs. 20,000. Compute the income from house property
for the assessment year 2012-13, - ’
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What do you mean by “Application of Income™ Mention flry two

examples. '
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(i) Shubham is a Chartered Accountant and employed in

H(‘W m_lich profit.: exempted in respect of newly established units
M special cconomic zone under Section T0AA ?
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(X} The total income of an individual for the previous year 2011-12 is

Rs. 2,40,000 which includes long term capital gain of Rs. 80.000,
What will be his tax liability if he has agriculture income also of
Rs. 1,00,000 2 )
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(x) Govind transferred to his wife securities worth Rs. 2,00,000

without consideration during the financial year 2008-09. The
intcrest is earned on these securities @ 10% per annum. During
the vear 2010-11 his wife invested two ycars income also in the -
similar securities. During the previous year 2011-12 she earned
Rs. 24,000 on an investment of Rs. 2,40,000. How much income
shall be included in the total income of Govind ? '
Tifae 3 79 gET @1 2,00,000 €94 Y wfayfaat fawg ad 2008-09 §
for ST & FE@AME ®1 1§ W 10 vfovE Tiffs 1 3 ] =
I g &1 39 2010-11 F ISt o=l A 2 9 F wm o
giyfedl F fofaim == o = 2011-12 7 2,40,000 w98 ¥ fafrdm
T 24,000 T H A WK 3 | A< # T @ feadh am
fimfera =t snast ? '

2. (i) There are two active partners in a firm Anand and Arpit. Each has

capital of Rs. 5,00,000 in the firm. As per partnership deed interest
@ 14% is payable on the capital and each partner is entitled to 8.
remuneration of Rs. 12,500 per month. The firm is eligible'
payment of tax under Section 44AD on the basis of presump
profits. The fotal turnover of the firm is Rs. 55 lakh. Find ou
tax payable by the firm. : - h
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He has obtained permission to audit ye accounts of a compan
and of an individual. During the Previous yepr i‘n the mon:in 3;‘
March he received as fees Rs. 27,000 frop, the company g d1RD
36,000 from the individual. He incurreq g, expengztllt ‘nf Rs.
15,000 for it. Find out his income from other sources, A 3,10. 5
cssential for individual. What will be i 1 o 1 O
Rs. 27,000 from the individual and Rs. 36,000 fro; t
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Keshu owned a house property at Chennai which was occupied
by him for residence. He was transferred to Mumbaj inJune, 2011
and there-fore he let out the property from |st July, 2011 on a
monthly rent of Rs. 3,000. The corporation tax payable @ 20%
was Rs. 6,000 of which 50% was paid by him before 3 fst March,
2012. Interest on money borrowed for the construction of
property Rs. 20,000. Compute the income from house property

for the assessment year 2012-13. .- )
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What do you mean by “Application of Income™ Mention any two .

examples. : ‘
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“Weighted Deduction is allowed in computing the taxable profits
of business.” Expfhin it in brief and write the names of any two
Payments in respect of it. : -
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PART-1I (DESCRIPTTVYL)
Maximum marks : 60
Section-A L
Smt. Sunita was appointed as a sales rEPI_ESEZl?“lIVE In a
manufacturing company of Jaipur (Populat103 6 akI?_s) on |
February, 2004 in the scale of 4,0(_)0-2.00-3:00 on starting s},
of Rs. 4,000. From the following particulars compute her tayy,,
income from salary for the assessment year 2012-13 :
She gets dearness allowance @ Rs. 1,000 per month under the
employment.
gl?e“;:tz corzm{ssion @ 1% on the sales effected by her. During
the previous year sales effected by her was Rs. 10,00,009. -
Her employer has provided her a rt_:nt free‘ residentjy
accommodation. The fair rental value of this house is Rs. 12,009,
The house is owned by the company. The company spent R,
24,000 on furhiture provided in this house.: ,
She has been given facility of 2 litre cc motor car which is used by
her both for office and private purposes. All the expenses of car

including the salary of driver @ Rs. 500 per month are borne by

the employer. :

She has been provided with the facility of a sweeper,. a gardener
and a cook who are paid by the employer @ 200 p.m., Rs. 250
p.m. and Rs. 300 p.m. respectively. .
Her employer gave free supply of gas costing Rs. 1,000 during
the previous year. ’ B -
She contributes 10% of her salary to an unrecognised provident
fund. Her employer contributes 15% to this fund. During the
previous year interest credited to this fund @ 15% amounted to
Rs. 15,000.

§he had taken an advance of 4 month’s salary (February to May)
mclu_ding dearness allowance in February, 2011,
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(x)

voluntary retirement approved by the Chiel Commissiondr of

income tax. Her emplover paid her o compensation of Rs. 76,800
on her retirement. She also received a sum of Rs. 1,20,000 from
“nrcc\‘g“i“‘m’ provident fund, 20
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4. (a)

Date of sale  March 15, 2012

ur
Write brief notes in respect of the following :
(i) Unrcalised rent o
(i) Unabsorbed depreciation . _
(iii) Capital expenditure for purchasing patent right
(iv) Partly agricultural income .
freiferfaa & T § wfaa feofomi fefed—
(1) 7 99a g foman
(%) Fifea & _
(W) vz 1z wite & s =g
(=) #iva: i amg
Section-B
From the following information of Satish compute the amount of
taxabie capital gain for the assessment year 2012-13 :
i o feraror & a-Fuftor ad 2012-13 % ferg a4 et ey
&1 U Y MoF i ) ,
Non-listed * Listed
debentures

" Non listed
debent_ures shares
March 7,2012 Dec. 18, 2011

Date of April 20, April 20, Nov. 15,
acquisition 2009 1973 2010

Rs/- . Rs/- Rs/-
Sale consideration 2,00,000 2.00,000 3,00,000
_Cost of acquisition 80,000 90,000 1,50,000
FMV.on 1.4.1981 — 1,20,000

by the Rural Electrification Corporation Limited red
He also acquired on June 10, 2012 the e
worth Rs. 1,20,000 which were offe

On May 25, 2012 Mr. Satish acquired bonds of Rs. 1,60,000 issued
cemable after 4 years,
quity shares of an Indian com pany
red to public for subscription. The

cost inflation indices for the year 2010-11 is 711.
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12 is Rs, 6,20,000. He is giv
New Pension Scheme wh
contribution has been given

€n a contribution of Rs. 36,000 to a
ich is 10% of his salary. Similar
by his employer. In addition he has



(i) Contribution to Public p,

paid the following amounts ajg,,

(i) Tuition fees of two chilgy Nd Accoynt
iy Contribution of Rs, 25,(,88 Rs. 12,000 Rs. 90,000

- in <
bonds of various companjes notifieq long term infrastry
Compute the gross amount of 1, Payable b e
€ By him,
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What is meant by deemed i 9 : .
illustrations. Income ? Explain such Incomes with
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‘ Section-C
Following are the particulars of the incomes of a Hindy Undivided
Family for the previous year 2011-12 :

(i) Rent received from House property Rs. 40,000. There are four

residential units in this house. The construction of this house had
started in October, 1990 and was completed on 31st March, 1994.
The municipal valuation is Rs. 24,000 and local taxes are paid @
10% to the municipality.

(i) Income from Business Rs. 4,20,000. It includes profits from

(iii)
(iv)

()

Poultry farm Rs. 50,000, compensation on termination of agency
Rs. 60,000 and profits of Rs. 80,000 from an industrial undertaking
established on 1.9.2003 in backward district of A Category.

Dividend received dh 15th September, 2011 Rs. 45,300 from Tea
Company and Rs. 23,425 from Unit Trust of India.
Taxable long term capital gain from the sale of land Rs. 60,000

and from sale of jewellery Rs. 23,000. )
During the prev%'ous yg 2011-12 the famlly made 'fOHOWW
Payments out of its above mentioned taxable 'ﬂm’:’ reatment
The family incurred an expenditure of Rs. 800000 5 p
°f a dependend member who is suffering frow

(b)
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(d)

(3

(=)

(7)

- (®)

()

(=)
(%)
(=)

)

physical disability.

Deposits in public providen
NSC VI issue purchased Rs. 4,000.
He donated Rs. 26,000 to a charitable ins ‘
Assuming that two members of the family
raxable income exceeding Rs. 1,80,000. (Iqm
of the family and tax payable by the family
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Write short notes on the following : :
Best‘.ludgemem assessment (ii) Re-assessment (iii)Rectification
of mistake (iv) Self assessment ' -

{ fund Afc Rs. 10,000.

{itution.
have their individual

pute the total income
for the” Assessment
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